⁰⁵21



County of Santa Cruz

DEPARTMENT OF PUBLIC WORKS

701 OCEAN STREET, ROOM 410, SANTA CRUZ, CA 950604070 (631) 454-2160 FAX (931) 454-2395 TDD (931) 454-2123

AGENDA: JANUARY 11, 2000

December 29, 1999

SANTA CRUZ COUNTY BOARD OF SUPERVISORS 701 Ocean Street Santa Cruz, California 95060

SUBJECT: BROMMER MAINTENANCE YARD ROOF PROJECT

CONTRACT NUMBER 91932, PUBLIC WORKS JOB NUMBER 60011 & 60048

NOTICE OF COMPLETION

Members of the Board:

The subject project was completed on November 17, 1999. The contractor was Cunnings & Cunnings, Inc., of Fresno, CA.

The original bid price was \$47,282.00, and total construction cost is \$59,301.04. A summary of final costs is attached for your information. Contract Change Order No. 1 increased the amount of roof area (building #3) to receive the polyurethane foam roof Money was available in the contingency to cover this change order.

It is therefore recommended that the Board of Supervisors take the following action:

- 1. Accept the improvements and approve the final cost,
- 2. Authorize the Clerk of the Board to file the Notice of Completion, a copy of which is attached.

3. Direct the County Recorder to return the original Notice of Completion to the Clerk of the Board.

Yours truly,

JOHN A. FANTHAM Director of Public Works

SLH:bbs

Attachments

RECOMMENDED FOR APPROVAL:

County Administrative Officer

copy to: Recorder's Office

Public Works

COUNTY OF SANTA CRUZ DEPARTMENT OF PUBLIC WORKS STATE OF CALIFORNIA

SUMMARY OF FINAL COSTS FOR

BROMMER MAINTENANCE YARD ROOF PROJECT

CONTRACT NO. 91932

ITEM NO.	ITEM	PROPOSED QUANTITY	MEASURED QUANTITY	UNIT	DIFFERENCE	UNIT COST	FINAL COST	DIFFERENCE
1 .	BITITURO: 1				ļ			
2	POLYURETHANE FOAM ROOF	9,000	8,440.00	SF	-560.00	\$2.83	\$23,885.20	(\$1,584.80)
3	MODIFY FIBERGLASS PANEL SKYLIGHT	12	14.00	EΑ	2.00	\$300.00	\$4,200.00	\$600.00
4	REMOVE FIBERGLASS PANEL SKYLIGHT	8	6.00	EΑ	-2.00	\$100.00	\$600.00	(\$200.00)
5	SERVICE ROOF VENT	5	5.00	EΑ		\$100.00	\$500.00	
6	BUILDING 2							
7	POLYURETHANE FOAM ROOF	3,200	3,290.00	S F	90.00	\$2.96	\$9,738.40	\$266.40
8	MODIFY FIBERGLASS PANEL SKYLIGHT	2	2.00	EA		\$300.00	\$600.00	
9	REMOVE FIBERGLASS PANEL SKYLIGHT	4	4.00	EΑ		\$100.00	\$400.00	
10	SERVICE ROOF VENT	3	3.00	EΑ		\$100.00	\$300.00	
11	ADD ALTERNATES (BUILDING 1)							
12	ALUMINUM GUTTER	404	404.00	LF		\$10.00	\$4,040.00	
13	ALUMINUM DOWNSPOUT	5	5.00	EΑ		\$100.00	\$500.00	
14	ADD ALTERNATES (BUILDING 2)							
15	REMOVE AND REPLACE GUTTERS	120	120.00	LF		\$10.00	\$1,200.00	
16	REMOVE AND REPLACE DOWN SPOUTS	4	4.00	EΑ		\$100.00	\$400.00	
1 7	C.C.O #1 (\$13,500.00)		L.S.				\$12,937.44	\$12,937.44
18								
19								
20								
21								
22								
23								
24								
25								
	TOTAL						\$59,301.04	\$12,019.04

SUMMARY

ORIGINAL BID: \$47,282.00 CHANGES: \$12,019.04

FINAL COST: \$59,301.04





0524

WHEN RECORDED MAIL TO: COUNTY OF SANTA CRUZ CLERK OF THE BOARD

NOTICE OF COMPLETION

NOTICE IS HEREBY GIVEN that the County of Santa Cruz, owner of the property hereinafter described, whose address is 701 Ocean Street, Santa Cruz, California, has caused a work of improvement more particularly described as follows:

BROMMER MAINTENANCE YARD ROOF PROJECT

to be constructed on property more particularly described as follows:

2700 Brommer Street, Santa Cruz, CA 95062

The work of improvement was completed by Cunnings & Cunnings, Inc., whose address is 1441 N. Maple, Fresno, CA 93703.

The work of improvement was actually completed on the 11 th day of November, 1999, and accepted by the Board of Supervisors of said County on the 11 th day of January, 2000.

DATED: January 11, 2000

JOHN A. FANTHAM Director of Public Works County of Santa Cruz

The undersigned states: That he is the Director of Public Works of the County of Santa Cruz, Owner of the property referred to in this Notice Of Completion; that the Board of Supervisors of said County on the 1 lth day of January, 2000, accepted said work of improvement and directed the filing of the Notice of Completion; that he has read the Notice of Completion and knows the contents thereof; and that the facts stated therein are true.

I declare under penalty of perjury that the foregoing is true and correct.

Executed by me this 1 1th day of January, 2000, at Santa Cruz, California.

JOHN A. FANTHAM Director of Public Works County of Santa Cruz

BMB